Sample Paper for GROUP - B
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Hurrah! we have won the match. In this sentence Hurrah is:

Conjugation (b) Preposition
Interjection (d) Adverb
Choose the noun form of “Strong”:
Strongly (b) Strongness
Strength (d) Strengthen

Complete the following sentence with the correct option:

My grandmother walks very

Quick (b) Fastly

Fast (d) Nice

He is slow he is sure:

nor (b) also

and (d) but

The doctor late for her appointment:
were (b) not

she (d) was

Find the correct spelt word:

Pleasant (b) Plesant

Plaesant (d) Plesaent

Which of the following is hot a homophonic pair?
Stare-Stair (b)  Principal-Principle
Kite-Kit (d) Steel-Steal
Identify the word which has different sound (underline) in
the middle :

Foot (b)  Should

Wood (d) Food

Choose the correct spelling:

Doesnt (b) Dosent

Doesn’t (d) Does’nt

Choose the correct sentence:

Of water take this glass  (b)
(d) Take this water of glass

Take this glass of water

take glass of this

Fill to complete the following sentence:

The ministers are responsible_ the Chief Minister.
For (b) To

of (d) Towards
Choose the word that is spelt incorrectly:
Dulcet (b) Convulse
Principal (d) Negetive
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wfy 4 (b) aref &
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g I BT GHT HEATAT 2
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IAS PIg @ i1 (b) e Hf AT AET Ut AT B

%ﬁﬁgm (d) fa=r aRem & aborar fiern
frafafaa & @ &i9 a1 wss fharefe =T 2-
ad (b)  ITOTAT

HlH (d) =T

“BIHY” TR BT BT ST FT BT ?

B (b) @R

sEHRA d) o

\_rﬁoﬂﬂET”Tﬂﬂ?q’$31Tﬁ{ﬁ\_{[€?T\'W$maTﬁ
¥ gRafdd #3 34 2, S Pad o—

irup) (b) I=d
NERIE (d) Su=f
The Number which is dividable by 6 ?
67821 (b) 78134
87432 (d) None

The distance between two parallel lines:
T =R @Rl 3 §h B 8-

Decreases (b) Increases
Hed) 2 gl @
Remains same ) AorB
IXER TEdT B AarB
Which are not co-prime :

3,4 (b) 3,9

45 (d) 5,7

A rectangular courtyard is 18m 72cm long 13m 20 cm broad
it is to be paved with square tiles of same size. The least
possible number of tiles:

24 (b) 576
4290 (d) None

Prime Triplets are three consecutive prime number
defferenting by:

2 (b) 3
4 d 1
A bag contains 25- paisa and 50- paisa coins whose total

value is Rs 30. If the number of 25- paisa coin is four times
that of 50- paisa coins. Number of each type of coins are:

40, 10 (b) 60, 15
80, 20 (d) 100,25
The Degree of polynomial 4x2- 3x° + 8x8 is:

IEUT 4x2- 3x° + 8x® B Hife i —
6 ) 5
3 @ 2

“r




32
(@)

)
33

(a)
(©)
34
(@)

(©)
35
(@)
(©
36
(@)
(©)
37
(@)

(©)
38

(©)
39

(@)

©)
40

(@)

©)
41

(@)

©)
42

(@)
(©)

The Rational number lies between % and g is:
2 4
- b Z
T z
e d z
7 @ 3
In the Figure number of triangles are:
A B
O
D E
10 (b) 8
5 d 6
32-[48+ {36-(27-16-9)}]
520
29 by =/
29 (®) 17
= d) None
7 (d)
Petiole and lamina are part of plant found in:
Root (b) Stem
Flower (d) Leaf
The process of conversion of water vapor into its liquid form
is:
Condensation (b) Evaporation
Decantation (d) Filtration

Noise or noise pollution is measured in:
efsT a1 safsr ygEror Amar mar 8-

Phone wi= & (b) Deci St #

Decibels s¥eer & (d) Decimals SHHar &

Water comes out of leaves in the form of vapour, the process
called:

gt @ 9199 @ w9 ¥ Ul 918} 3| @) ufdar
FHEaTdl 2—

Photosynthesis Transpiration
9&HIT G AT ®) Qe
Respiration (@) Extraction
LGRE] frepel

Normal range of breathing in an adult in one minute:

Uh qI%h Afdd U e # ftaq feas IR |«
odr 2—

9-12 (b) 12-18

21-24 (d 30-33

Salt is obtained from sea water by the process of:

I 9 4 TS 9 D1 ufnaAr 8-

Evaporation Condensation

CIELE] (b) T
Filtration Sieving
frreues @ e

The normal temperature of the human is:
AT TR &1 9HEFI A9 giar 8-

47°C (b) 96°C
57°C d) 37°C

Which acid found in curd:
<gl ¥ DI 9T 3%l AT e 2—

Oxalic acid Ascorbic acid
stqafers tRis ) oReifs wRis
Formic acid q Lactic acid
wiffe TRrs @ Sfres ohre

43

(@)

)
44

(@)

()
45

(@)

)
46

(@)

(©)
47

(@)

(©)
48

(@)
(b)
(©)

(d)
49

(@)

(©)
50

(@)
(©)

Bleeding gums, wounds take longer time to heat are
symptoms of

Beri Beri (b) Scurvy
Rickets (d) Anemia
Chemical use for ripening fruits:

Bell I b F AT fHar S qrelT AEAT 2—

Methane b Ethylene
ESEl ®) shifer
Sulphuric acid d Glucose
IeRR® RIS @ rqerw

“World Environment Day” is related to:
“fa”q ggfazer feqw” ww=fa 2—

15 June (b) 14 November
5 June (d) 31 March
“National Sports Day” celebrated at

e Id feaw 99 Sirar 28—

25 August (b) 29 August
30 August (d) 31 August
Saina Nehwal is related with:

R B B B [

Golf Mew (b) Tenis 2™
Table Tenis .
aa TR (d) Badminton
26/11 is related to:

26/11 GHforT 28—

Round Table Summit Me@s G- @
Death anniversary of Ambedkar 3rds®x & uRfaafor @
Terror Attack in Mumbai 348 3Td®! g9« 4|

None of these 3718 &4 ®ig gl
If EXTRANEOUS = XEOENARTSU,

then PERFECTION = ?
EPITECFRNO (b) EPICTEFRNO
EPITCEFRNO (d) EIPTCEFRNO

Which amongst the following is longest river?

T 4 SiF 999 oH ) ¢ 2—

Godavari Mahanadi
merad ®) e
Krishna (@ Cauvery
DI
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